1. Perform the indicated operations and reduce the result to lowest terms. Assume the variables are restricted
to values that prevent division by 0.
4s — 7 25 —1
$24+9s+20 —s—4

A 2s2410s—12
* (s+4)(s+5)

B 2524135—12
* (s+4)(s+5)

25%+18s5—12
C. 96T

25%465—12
D. (s+1)(s+5)(s—1)

2s%4+14s5—12
E. (s+1)(s+5)(s—1)

2524+19s5—12
E. (s+1)(s+5)(s—1)

252 4+8s—12
G. ¥(s79)

25%2420s5—12
(s+4)(s+5)

22

2. Perform the indicated operations and reduce the result to lowest terms. Assume the variables are restricted
to values that prevent division by 0.
5y 3y + 2
y2—4y+3 Y2 -—Ty+12

8y —25y—2
A GG DD

8y?—22y—2
B. o3 o D

8y%—24y—2
C om0

8y%—18y—2
D. oe oo

8y?—16y—2
E. (y—3)(y—1)(y—6)

8y2—21y—2
F. (y=3)(y—1)(y—4)

8y2—23y—2
G 3w

8y —27y—2
H o= o0



3. Perform the indicated operations and reduce the result to lowest terms. Assume the variables are restricted
to values that prevent division by 0.

2a—4 6a—7

3a+1 3a-—-7

A —12a%—15a+35
* (3a+1)(3a—7)

B —12a®—5a+35
* (Ba+1)(3a—T)

C —12a%—14a+35
© (Ba+1)(3a—7)

D —12a%—17a+35
© (Ba+1)(3a—7)

E = 12a%—4a+35
* (Ba+1)(3a—T)

F —12a%—18a+35
* (3a+1)(3a—7)

G —12a%—16a+35
* (3a+1)(3a—7)

—12a*—11a+35
(3a+1)(3a—T7)

4. Perform the indicated operations and reduce the result to lowest terms. Assume the variables are restricted
to values that prevent division by 0.

7
5_ =
a

-2
AT
B. 5a—7
C. _LQ
D. —2a
E. =2
F. -2
G' 5a¢177
H 5a—7

*a(a+1)



5. Perform the indicated operations and reduce the result to lowest terms. Assume the variables are restricted

to values that prevent division by 0.
4p+2 T+ 6

pr=5u  —p

2_26u—28
A, 208
u(p—>5)

72 —18,—28
B. 5D

Tu?—21—28
C. w(pn—>5)

7u?—231—28
D =5G—D

7?2 —19,—28
B 6D

7Tu?—22,—28
F, p"—22p-28
u(pu—=5)

Tu?—251—28
G. n(pn—>5)

T2 —271—28
H 6D

6. Perform the indicated operations and reduce the result to lowest terms. Assume the variables are restricted
to values that prevent division by 0.
3p+4 3p+6
p2—2p+1 p2—Tp+6

6p2—15p—30
A GoD0-N0-8)

6p>—9p—30
B. o 06-10-0

6p>—18p—30
C. 2061060

6p>—12p—30
D. e=h-n0-9

6p°—11p—30
E. = 06-00-9

6p>—5p—30
F. (p—1)(p—1)(p—6)

6p%—4p—30
G 06700

6p>—8p—30
H 06009



7. Perform the indicated operations and reduce the result to lowest terms. Assume the variables are restricted
to values that prevent division by 0.

2n+4 2n—25

-n+7 n*-=Tn

2n%—1n—>5
A. (n=")n

2n°+5n—5
B. 202
(n=7)n
2n%+8n—>5
C. Za-nn

212 4-61—5
D. (n=7)n

2n%+3n—>5
O R TGRSy

2172—5
F. a2

212 4+4n—>5
G 2t

2n%+13n—5
H. (n—2)n(n—1)

8. Perform the indicated operations and reduce the result to lowest terms. Assume the variables are restricted

to values that prevent division by 0.
h—4 2h 47

T Th—1 T htont1

h24+1h43
A. (h+6)(h+1)(h—1)

h%45h43
B. (h+1)(h+1)

C h%?—2h+3
* (h+6)(h+1)(h—1)

h%2—7h+3
D. (h+6)(h+1)(h—1)

h?—8h+3

E. (h+1)(h+1)

F h%+3
© (h+6)(h+1)(h—1)

h2—1h+3
G. (h+1)(h+1)

h2—5h+3
H. (h+1)(h+1)



